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“Truth and Consequentiality: Theory and Field Evidence on Discrete Choice 

Experiments” 

By Christian A. Vossler, Maurice Doyon and Daniel Rondeau 

Online Appendix: Experiment Instructions 

 

 

The material appendix comprises instructions for the four treatments as well as the 

three surveys used. The presentation of the material is sequential, meaning that the 

surveys are integrated in the instructions to reflect where they were distributed in the 

instruction process. To avoid repetition, the complete instructions with integrated 

surveys are presented for the first treatment only. At the end of those complete 

instructions, the material that differs (instruction and surveys) between treatments is 

also presented. 

 

The four treatments are: 

1. Real payment, independent lottery policy function (RP‐IND) 

2. Real payment, aggregate lottery policy function (RP‐AGG) 

3. Real payment, unknown policy function (RP‐UNK) 

4. Stated preference (SP) 

 

An important word of caution: The material presented is an English translation of the 

original French instructions. Questions of interpretation should be resolved using the 

original French documents.  
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FIRST QUESTIONNAIRE 
 
(1) How would you describe your general level of concern regarding environmental and 
biodiversity issues?     (Check one box only) 

Very low  Low  Average  High  Very High 

         

 
 
 
(2) What degree of importance do you attach to the presence of trees in your living 
environment?     (Check one box only) 

Very low  Low  Average  High  Very High 

         

 
 
 
(3) How would you describe the importance you attach to having the opportunity to observe 
wild species in your living environment? (Check one box only) 

Very low  Low  Average  High  Very High 

         

 
 
 
(4) How often do you have the chance to visit rural areas? 
(Check only one box)  

Weekly   

Monthly   

3 or 4 times per year   

Once per year   

Less than once per year   

 
 
 
(5) What are the reasons bringing you to visit rural areas?  (Check all boxes that apply)  

 

 

    others :   _____________________________________________   

 

 

I live in a rural area   

Hiking/walking   

Commuting   

Weekend leasure   

Bird watching   

Photography   

Fishing   
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QUESTIONNAIRE 2 

NOTE: In the original survey, only one choice set was presented per page 

In the following pages, we ask you to vote Yes or No on each of twelve tree planting 

projects. Each project could be realised and is independent from the others. You 

should therefore vote as if each was the only one presented.  

 

H‐1‐600‐OABI 

Location  Width  Length  Cost to You  
 

Wind‐breaker 
 

1 row  600 metres  $75 

 
Do you wish to vote in favor of this project ?                                                      (Check either 
the «yes» box or the «no» box according your preferences) 
    

 

 
 
R‐3‐1000‐ZDNL 

Location  Width  Length  Cost to You  
 

Riparian hedge 
 

3 rows  1000 metres  $10 

 
Do you wish to vote in favor of this project ?                                                      (Check either 
the «yes» box or the «no» box according your preferences) 
    

 

 
 

 
   

Yes  
No  

Yes  
No  
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H‐3‐600‐NOPB 

Location  Width  Length  Cost to You  
 

Wind‐breaker 
 

3 rows  600 metres  $25 

 
Do you wish to vote in favor of this project ?                                                      (Check either 
the «yes» box or the «no» box according your preferences) 
    

 

 
 
 
 
R‐3‐300‐ANVH 

Location  Width  Length  Cost to You  
 

Riparian hedge 
 

3 rows  300 metres  $50 

 
Do you wish to vote in favor of this project ?                                                      (Check either 
the «yes» box or the «no» box according your preferences) 
    

 

 
 
 
 
R‐3‐600‐NUKG 

Location  Width  Length  Cost to You  
 

Riparian hedge 
 

3 rows  600 metres  $75 

 
Do you wish to vote in favor of this project ?                                                      (Check either 
the «yes» box or the «no» box according your preferences) 
    

 

 

Yes  
No  

Yes  
No  

Yes  
No  
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H‐3‐1000‐ZGYC 

Location  Width  Length  Cost to You  
 

Wind‐breaker 
 

3 rows  1000 metres  $25 

 
Do you wish to vote in favor of this project ?                                                      (Check either 
the «yes» box or the «no» box according your preferences) 
    

 

 
 
 
 
R‐1‐600‐VSHJ 

Location  Width  Length  Cost to You  
 

Riparian hedge 
 

1 row  600 metres  $25 

 
Do you wish to vote in favor of this project ?                                                      (Check either 
the «yes» box or the «no» box according your preferences) 
    

 

 
 
 
 
H‐1‐1000‐GQAD 

Location  Width  Length  Cost to You  
 

Wind‐breaker 
 

1 row  1000 metres  $10 

 
Do you wish to vote in favor of this project ?                                                      (Check either 
the «yes» box or the «no» box according your preferences) 
    

 

 

Yes  
No  

Yes  
No  

Yes  
No  
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R‐1‐300‐WIFK 

Location  Width  Length  Cost to You  
 

Riparian hedge 
 

1 row  300 metres  $10 

 
Do you wish to vote in favor of this project ?                                                      (Check either 
the «yes» box or the «no» box according your preferences) 
    

 

 
 
 
 
H‐3‐300‐KRCF 

Location  Width  Length  Cost to You  
 

Wind‐breaker 
 

3 rows  300 metres  $75 

 
Do you wish to vote in favor of this project ?                                                      (Check either 
the «yes» box or the «no» box according your preferences) 
    

 

 
 
 
 
H‐1‐300‐DPHE 

Location  Width  Length  Cost to You  
 

Wind‐breaker 
 

1 row  300 metres  $50 

 
Do you wish to vote in favor of this project ?                                                      (Check either 
the «yes» box or the «no» box according your preferences) 
    

 

 

Yes  
No  

Yes  
No  

Yes  
No  
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R‐1‐1000‐IQGA 

Location  Width  Length  Cost to You  
 

Riparian hedge 
 

1 row  1000 metres  $50 

 
Do you wish to vote in favor of this project ?                                                      (Check either 
the «yes» box or the «no» box according your preferences) 
    

 

 
   

Yes  
No  
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QUESTIONNAIRE 3 

H‐1‐600‐OABI 

Location  Width  Length  Cost to you  
 

Wind‐breaker 
 

1 rows  600 metres  $75 

 
What is your best estimate of the number of people in the group today who voted  
« yes » for this project? (There is a total of XX people in the group today)? 
            ___________ 
 
 
 
 
 
R‐3‐1000‐ZDNL 

Location  Width  Length  Cost to you  
 

Riparian hedge 
 

3 rowss  1000 metres  $10 

 
What is your best estimate of the number of people in the group today who voted  
« yes » for this project? (There is a total of XX people in the group today)? 
___________ 
 
 
 
 
 
H‐3‐600‐NOPB 

Location  Width  Length  Cost to you  
 

Wind‐breaker 
 

3 rowss  600 metres  $25 

 
What is your best estimate of the number of people in the group today who voted  
« yes » for this project? (There is a total of XX people in the group today)? 
___________ 
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R‐3‐300‐ANVH 

Location  Width  Length  Cost to you  
 

Riparian hedge 
 

3 rowss  300 metres  $50 

 
What is your best estimate of the number of people in the group today who voted  
« yes » for this project? (There is a total of XX people in the group today)? 
___________ 
 
 
 
 
 
R‐3‐600‐NUKG 

Location  Width  Length  Cost to you  
 

Riparian hedge 
 

3 rowss  600 metres  $75 

 
What is your best estimate of the number of people in the group today who voted  
« yes » for this project? (There is a total of XX people in the group today)? 
___________ 
 
 
 
 
 
H‐3‐1000‐ZGYC 

Location  Width  Length  Cost to you  
 

Wind‐breaker 
 

3 rowss  1000 metres  $25 

 
What is your best estimate of the number of people in the group today who voted  
« yes » for this project? (There is a total of XX people in the group today)? 
___________ 
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R‐1‐600‐VSHJ 

Location  Width  Length  Cost to you  
 

Riparian hedge 
 

1 rows  600 metres  $25 

 
What is your best estimate of the number of people in the group today who voted  
« yes » for this project? (There is a total of XX people in the group today)? 
___________ 
 
 
 
 
 
H‐1‐1000‐GQAD 

Location  Width  Length  Cost to you  
 

Wind‐breaker 
 

1 rows  1000 metres  $10 

 
What is your best estimate of the number of people in the group today who voted  
« yes » for this project? (There is a total of XX people in the group today)? 
___________ 
 
 
 
 
 
R‐1‐300‐WIFK 

Location  Width  Length  Cost to you  
 

Riparian hedge 
 

1 rows  300 metres  $10 

 
What is your best estimate of the number of people in the group today who voted  
« yes » for this project? (There is a total of XX people in the group today)? 
___________ 
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H‐3‐300‐KRCF 

Location  Width  Length  Cost to you  
 

Wind‐breaker 
 

3 rowss  300 metres  $75 

 
What is your best estimate of the number of people in the group today who voted  
« yes » for this project? (There is a total of XX people in the group today)? 
___________ 
 
 
 
 
 
H‐1‐300‐DPHE 

Location  Width  Length  Cost to you  
 

Wind‐breaker 
 

1 rows  300 metres  $50 

 
What is your best estimate of the number of people in the group today who voted  
« yes » for this project? (There is a total of XX people in the group today)? 
___________ 
 
 
 
 
 
R‐1‐1000‐IQGA 

Location  Width  Length  Cost to you  
 

Riparian hedge 
 

1 rows  1000 metres  $50 

 

What is your best estimate of the number of people in the group today who voted  
« yes » for this project? (There is a total of XX people in the group today)? 

___________ 
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QUESTIONNAIRE 4 

 (20) When you voted on projects, how much consideration did you give to how other 
participants in the group might be voting? (Check one box)  
 

None  Little  Some  A fair amount  Substantial 

         

 
 
(21) If you gave at least a little consideration to the vote of others in your group, how many of 
your votes would you say have been affected by those considerations? (Check one box only) 
 

Not 
Applicable 

None  Modified  
1 vote 

Modified 
2 votes 

Modified  
3 to 5 votes 

Modified 
more than 5 
votes 

           

 
 
(22) To what extent do you believe that your answers will...  (check one box per question) 
 
(a) be taken into consideration by public authorities? 
 

Not at all  Very little  Little  Somewhat  Much  Very much 

           

 
 
(b) be used to analyze alternative environmental policies? 
 

Not at all  Very little  Little  Somewhat  Much  Very much 

           

 
 
(c)  have a direct short term impact on the environmental policies of the Quebec or Canadian 
government? 
 

Not at all  Very little  Little  Somewhat  Much  Very much 

           

 
 
 
(23) Please indicate to what extent you agree with each of the following two statements: 
 
We should manage the environment for future generations? 
 

Completely 
Disagree 

Disagree  Indifferent  Agree  Completely 
Agree 
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The planting of windbreak and riparian hedges should be subsidized because they play an 
important environmental function. 
 

Completely 
Disagree 

Disagree  Indifferent  Agree  Completely 
Agree 

         

 
 
(24) Who do you think should pay the cost of planting windbreak and riparian hedges?     (Check 
as many boxes as needed) 
 

Voluntary payments from the public   

Governments   

Farm owners   
        
     Others (specuify) : __________________________________ 
 
 
25 (a) In the last 12 months, have you made donations to charities or other non‐profit 
organizations?   (check one box) 
 

Yes   

No   

 
 
(b) If you answered yes to the previous question, please indicate the type(s) of organizations you 
have given to? (Check all that apply) 
 

United Way   

Organizations that help individuals in need (e.g. the blind)   

Organizations that support the youths (e.g. sports)   

Universities   

Religious organizations   

Environmental organizations   

Organizations that support medical research (e.g. cancer)   

       
         Other types (Specify): __________________________________ 
 
(26) Please indicate your sex?      
 

Male   

Female   

 
 
(27) What year were you born?  19____ 
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(28) Do you live with a spouse?      
 

Yes   

No   

 
 
(29) What is your legal marital status?  (Check one box) 
 

Single   

Married or common law    

Widower   

Divorced   

 
 
 
(30) a) How many people, including yourself, are part of your household? 
 
                 _________ 
 
 
b) How many people in your household are 18 years old or older?  
 
                 _________ 
 
 
 
(31) Please indicate the highest level of education you have completed?   (Check one box) 
 

Highscool (not completed)   

High School Diploma   

College degree   

Bacchelor’s Degree   

Graduate Degree   

 
(32) How would you describe your principal occupation?    (Check one box) 
 

Employed full time   

Employed part time   

Self employed   

Student   

Unemployed   

Retired   

Home maker   
 

Other (Specify): ___________________________ 
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 (34) Are you currently employed?    (Check one box) 
 

Oui   

Non   

 
 
 
(35) If you are employed, which of the following best describes you occupation?  (Check one) 
 

Farm owner         Public service employee                 
Artisan          Private sector administrative officer            
Business owner        Store employee                
Business executive       Certified tradesperson                        
Liberal profession       Uncertified tradesperson         
Public service manager     Farm worker                                
Business manager    
Technician         Other (please specify):     
Foreman                  ______________________________ 
 
 
 
 (36) If you are unemployed, have you worked in the past? (Check one box) 
 

Yes   

No   

 
           If you answered yes, what was your occupation? 
________________________________ 
 
 
(37) Are you a member of an environmental group? 
 

Yes   

No   

 
 
           If you answered yes, what is the name of the organization? 
________________________ 
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(38) Because income is an important factor explaining preferences regarding environmental 
issues, we would like to ask you a delicate question. Remember that your name will never be 
linked to your answer.  
 
What is your household’s annual income before taxes, inclusive of revenue from interests, 
dividends, pensions, etc...? (Please check one box) 
 
 
 
 
 

Less than $14 999   

$15 000 to $24 999   

$25 000 to $34 999   

$35 000 to $44 999   

$45 000 to $54 999   

$55 000 to $64 999   

$65 000 to $74 999   

$75 000 to $84 999   

$85 000 to $94 999   

$95 000 to $104 999   

$105 000 to $114 999   

$115 000 to $124 999   

$125 000 to $129 999   

$130 000 to $140 000   

$140 000 or more    
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Differences in the instructions for the treatments Real payment, aggregate lottery 

policy function (RP‐AGG), Real payment, unknown policy function (RP‐UNK) and 

Stated preference (SP), relative to Real payment, independent lottery policy function 

(RP‐IND) 

 

DIFFERENCES FOR TREATMENT RP‐AGG 

 

55 

 

 

 

 

 

 

 



55 
 

 

56 

 

 

57 



56 
 

 

58 

 

 

59 



57 
 

 

60 

 

 

73 



58 
 

DIFFERENCES FOR TREATMENT RP‐UNK 

[Slides 55 to 59 are removed] 
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DIFFERENCES FOR TREATMENT SP 

[Slides 9 and 10 are removed] 

[Slides 55 to 59 are removed] 

[Slides 68 and 69 are removed] 
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